

City of Tulsa Purchasing TAC 832A Exam Gloves 175 E. 2nd Street 15th F Fire Department

Tulsa, OK 74103 Bid Opening Date: September 26, 2024

Senior Buyer: Samantha Toothaker

stoothaker@cityoftulsa.org

Please contact if you have any questions.

Delivery:

If Your Bid is Accepted, state the number of Days You need to deliver the Supplies and/or begin providing Services.

You must be able to deliver the Supplies and/or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity

Pricing: Section 1 Option 1

			The Glove Box, Inc.			Henry Schein, Inc.			Bound Tree Medical, LLC		
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost
1a.	100/bx 10bx/cs	420	Uniseal 150-6	\$134.60	\$56,532.00	Microflex 1392710 Supreno EC SEC-375-S	\$115.00	\$48,300.00	Ansell Healthcare Products BTM#1015- 10401	\$129.80	\$54,516.00
1b.	100/bx 10bx/cs	420	Uniseal 150-7	\$134.60	\$56,532.00	Microflex 1392708 Supreno EC SEC-375-M	\$115.00	\$48,300.00	Ansell Healthcare Products BTM#1015- 10402	\$129.80	\$54,516.00
1c.	100/bx 10bx/cs	420	Uniseal 150-8	\$134.60	\$56,532.00	Microflex 1392711 Supreno EC SEC-375-L	\$115.00	\$48,300.00	Ansell Healthcare Products BTM#1015- 10403	\$129.80	\$54,516.00
1d.	100/bx 10bx/cs	420	Uniseal 150-9	\$134.60	\$56,532.00	Microflex 1392714 Supreno EC SEC-375-XL	\$115.00	\$48,300.00	Ansell Healthcare Products BTM#1015- 10404	\$129.80	\$54,516.00
1e.	90/bx 10bx/cs	420	Uniseal 150-0	\$134.60	\$56,532.00	Microflex 1392709 Supreno EC SEC-375-XXL	\$115.00	\$48,300.00	Ansell Healthcare Products BTM#1015- 10405	\$129.80	\$54,516.00
(All costs n	(All costs must be included or vour hid will be disqualified)		\$282,660.00			\$241,500.00			\$272,580.00		

Pricing: Section 2 Option 2

			The Glove Box, Inc.			Henry Schein, Inc.			Bound Tree Medical, LLC		
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost
2a.	100/bx 10bx/cs	420	Uniseal 150-6	\$137.28	\$57,657.60	Microflex 7002469 Lifestar EC LSE-104-S	\$128.70	\$54,054.00	Curaplex bu Bound Tree BTM # 1015-47143	\$129.80	\$54,516.00
2b.	100/bx 10bx/cs	420	Uniseal 150-7	\$137.28	\$57,657.60	Microflex 7002470 Lifestar EC LSE-104-M	\$128.70	\$54,054.00	Curaplex bu Bound Tree BTM # 1015-47144	\$129.80	\$54,516.00
2c.	100/bx 10bx/cs	420	Uniseal 150-8	\$137.28	\$57,657.60	Microflex 7002471 Lifestar EC LSE-104-L	\$128.70	\$54,054.00	Curaplex bu Bound Tree BTM # 1015-47145	\$129.80	\$54,516.00
2d.	100/bx 10bx/cs	420	Uniseal 150-9	\$137.28	\$57,657.60	Microflex 7002472 Lifestar EC LSE-104-XL	\$128.70	\$54,054.00	Curaplex bu Bound Tree BTM # 1015-47146	\$129.80	\$54,516.00
2e.	90/bx 10bx/cs	420	Uniseal 150-0	\$137.28	\$57,657.60	Microflex 7002473 Lifestar EC LSE-104-XXL	\$128.70	\$54,054.00	Curaplex bu Bound Tree BTM # 1015-47147	\$129.80	\$54,516.00
(All costs n	(All costs must be included or your bid will be disqualified)		\$288,288.00			\$270,270.00		\$272,580.00			

Pricing: Section 3 Option 3

	Ect		The Glove Box, Inc.			Henry Schein, Inc.			Bound Tree Medical, LLC		
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost
3a.	100/bx 10bx/cs	420	Uniseal 150-6	\$140.02	\$58,808.40	Microflex 5653197 NeoPro EC NEC-288-S	\$172.40	\$72,408.00	Ansell Healthcare Inc. BTM#1015- 14801	\$117.20	\$49,224.00
3b.	100/bx 10bx/cs	420	Uniseal 150-7	\$140.02	\$58,808.40	Microflex 5658689 NeoPro EC NEC-288-M	\$172.40	\$72,408.00	Ansell Healthcare Inc. BTM#1015- 14802	\$117.20	\$49,224.00
3с.	100/bx 10bx/cs	420	Uniseal 150-8	\$140.02	\$58,808.40	Microflex 5657198 NeoPro EC NEC-288-L	\$172.40	\$72,408.00	Ansell Healthcare Inc. BTM#1015- 14803	\$117.20	\$49,224.00
3d.	100/bx 10bx/cs	420	Uniseal 150-9	\$140.02	\$58,808.40	Microflex 5659114 NeoPro EC NEC-288-XL	\$172.40	\$72,408.00	Ansell Healthcare Inc. BTM#1015- 14804	\$117.20	\$49,224.00
3e.	90/bx 10bx/cs	420	Uniseal 150-0	\$140.02	\$58,808.40	Microflex 5655879 NeoPro EC NEC-288-XXL	\$172.40	\$72,408.00	Ansell Healthcare Inc. BTM#1015- 14805	\$117.20	\$49,224.00
(All costs r	(All costs must be included or vour bid will be disqualified)		\$294,042.00			\$362,040.00			\$246,120.00		
	Delivery		3-4 Business Days			2-7 Days			2-3 Days ARO		
Д	Annual Price Adjustment:		N/A			CPI			5.5 Fixed%		

Pricing: Se	Sec. 1 Opt.1 All sizes sold 50/bx, 10/bx/cs except XXL 45/BX 67.30 Notes: Sec. 2 Opt.2 All sizes sold 50/bx, 10/bx/cs except XXL 45/BX 68.64 Sec. 3 Opt.3 All sizes sold 50/bx, 10/bx/cs except XXL sing: Section 1 Option 1						Increase will be based on manufacturers increase to Henry Schein. *Sec.1 Opt.1 All sizes sold 50/bx, 10bx/cs \$57.50. *Sec.3 Opt.3 All sizes sold 50/bx, 10 bx/cs \$86.20			*Sec.1 Opt.1 All sizes \$12.98/bx-sold by box. *Sec.2 Opt.2 All sizes \$12.98/bx-sold by box. *Sec.3 Opt.3 All sizes \$11.72/bx-sold by box.		
g. 00				Life-Assist, Inc		Me	dline Industries	, LP	Nationw	ride Medical Sup	oply, Inc.	
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	
1a.	100/bx 10bx/cs	420	LSE-104-S	\$132.00	\$55,440.00	CR911S	143.38	\$60,219.60	USBK60102	\$44.50	\$18,690.00	
1b.	100/bx 10bx/cs	420	LSE-104-M	\$132.00	\$55,440.00	CR911M	143.38	\$60,219.60	USBK60103	\$44.50	\$18,690.00	
1c.	100/bx 10bx/cs	420	LSE-104-L	\$132.00	\$55,440.00	CR911L	143.38	\$60,219.60	USBK60104	\$44.50	\$18,690.00	
1d.	100/bx 10bx/cs	420	LSE-104-XL \$132.00 \$55,440.00 CR9 ²			CR911XL	143.38	\$60,219.60	USBK60105	\$44.50	\$18,690.00	
1e.	90/bx 10bx/cs	420	LSE-104-XXL	\$132.00	\$55,440.00	CR911XXL	143.38	\$60,219.60	\$60,219.60 USBK60106 \$47.00 \$19,740			
(All costs r	All costs must be included or \$277,200.00			\$301,098.00				\$94,500.00				

Pricing: Se	Pricing: Section 2 Option 2													
			Life-Assist, Inc			Medline Industries, LP			Nationwide Medical Supply, Inc.					
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost			
2a.	100/bx 10bx/cs	420	N188172	\$115.50	\$48,510.00	VS711S	155.18	\$65,175.60	6101	\$46.50	\$19,530.00			
2b.	100/bx 10bx/cs	420	N188173	\$115.50	\$48,510.00	VS711M	155.18	\$65,175.60	6102	\$46.50	\$19,530.00			
2c.	100/bx 10bx/cs	420	N188174	\$115.50	\$48,510.00	VS711L	155.18	\$65,175.60	6103	\$46.50	\$19,530.00			

	_											
2d.	100/bx 10bx/cs	420	N188175	\$115.50	\$48,510.00	VS711XL	155.18	\$65,175.60	6104	\$46.50	\$19,530.00	
2e.	90/bx 10bx/cs	420	N188176	\$115.50	\$48,510.00		NO BID	\$0.00	6105	\$49.00	\$20,580.00	
	must be incl			\$242,550.00			\$260,702.40			\$98,700.00		
	ection 3 Option											
				Life-Assist, Inc		Me	dline Industries	, LP	Nationwide Medical Supply, Inc.			
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	
3a.	100/bx 10bx/cs	420	182100	\$85.40	\$35,868.00	N/A	N/A	N/A	N/A	N/A	N/A	
3b.	100/bx 10bx/cs	420	182200	\$85.40	\$35,868.00	N/A	N/A	N/A	N/A	N/A	N/A	
3c.	100/bx 10bx/cs	420	182300	\$85.40	\$35,868.00	N/A	N/A	N/A	N/A	N/A	N/A	
3d.	100/bx 10bx/cs	420	182350	\$85.40	\$35,868.00	N/A	N/A	N/A	N/A	N/A	N/A	
3e.	90/bx 10bx/cs	420	182400	\$85.40	\$35,868.00	N/A	N/A	N/A	N/A	N/A	N/A	
All costs i	must be incl	uded or		\$179,340.00			\$0.00			\$0.00		
our bid w	ill bo disqua	Delivery:		1-2 Business Days		Days			5-7 Business Days			
ŀ	Annual Price	Adjustment:		N/A			N/A		СРІ			
		Notes:		N/A		Sec. 2 Opt.2 All sizes sold 50/bx, 10/bx/cs XXL not Offered			N/A			
Pricing: Se	ection 1 Optio	on 1										
			Premi	er Medical Distri	bution	Gold	l Station Capital	, LLC	K	OR KT ENT, LL	С	
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	
1a.	100/bx 10bx/cs	420	Nitrile Care CYP 2722	\$39.50	\$16,590.00	GSMNPXBLK102	\$55.40	\$23,268.00	HandCare- NEBK60SM	\$22.29	\$9,361.80	
1b.	100/bx 10bx/cs	420	Nitrile Care CYP 2724	\$39.50	\$16,590.00	GSMNPXBLK103	\$55.40	\$23,268.00	HandCare- NEBK60MD	\$22.29	\$9,361.80	
10	100/bx	420	Nitrile Care	¢30 EU	¢16 500 00	CCMNDABI R1U1	¢55 40	¢33 388 ሀሀ	HandCare-	¢22.20	¢0 261 ያበ	

ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost
				er Medical Distri	bution		Station Capital	LLC		OR KT ENT, LL	С
Pricing: Se	ction 3 Optio	on 3									
	ST NOT TO nust be incl			\$0.00			\$0.00			\$39,349.80	
2e.	90/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	6 MILGLOVE- N6MLG	\$18.99	\$7,975.80
2d.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	6 MILGLOVE- N6MLG	\$18.99	\$7,975.80
2c.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	6 MILGLOVE- N6MLG	\$18.57	\$7,799.40
2b.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	6 MILGLOVE- N6MLG	\$18.57	\$7,799.40
2a.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	6 MILGLOVE- N6MLG	\$18.57	\$7,799.40
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cos
			Premie	er Medical Distri	bution	Gold	Station Capital	LLC	K	OR KT ENT, LL	С
	ction 2 Optio										
	ST NOT TO nust be incl			\$82,950.00			\$116,340.00			\$46,809.00	
1e.	90/bx 10bx/cs	420	Vanguard VANA11915	\$39.50	\$16,590.00	GSMNPXBLK106	\$55.40	\$23,268.00	HandCare- NEBK60XXL	\$22.29	\$9,361.80
1d.	100/bx 10bx/cs	420	Nitrile Care CYP 2728	\$39.50	\$16,590.00	GSMNPXBLK105	\$55.40	\$23,268.00	HandCare- NEBK60XL	\$22.29	\$9,361.80
16.	10bx/cs	420	CYP 2726	φο σ .ου	φ ιο,υ σ υ.υυ	GOWINT ADEN 104	φυυ.4 υ	Ψ 23,200.00	NEBK60LG	サムと.と り	क्च,उठ ।.ठ७

			Premier Medical Distribution			Gold Station Capital, LLC			KOR KT ENT, LLC		
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost	Manufacturer & SKU	Unit Cost/CS	Extended Cost
3a.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	TOPGRIP- TGPF	\$17.99	\$7,555.80
3b.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	TOPGRIP- TGPF	\$17.99	\$7,555.80
3c.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	TOPGRIP- TGPF	\$17.99	\$7,555.80
3d.	100/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	TOPGRIP- TGPF	\$17.99	\$7,555.80
3e.	90/bx 10bx/cs	420	N/A	N/A	N/A	N/A	N/A	N/A	TOPGRIP- TGPF	\$17.99	\$7,555.80

(All costs must be included or	\$0.00	\$0.00	\$37,779.00
Delivery:	N/A	Days	21 Days
Annual Price Adjustment:	N/A	N/A	N/A
Notes:	N/A	N/A	N/A

Pricing: Sec	ction 1 Optio	on 1			
			MedFIRS	T Healthcare Su	ipply, Inc.
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost
1a.	100/bx 10bx/cs	420	Innovative Healthcare #189100	\$51.47	\$21,617.40
1b.	100/bx 10bx/cs	420	Innovative Healthcare #189100	\$51.47	\$21,617.40
1c.	100/bx 10bx/cs	420	Innovative Healthcare #189100	\$51.47	\$21,617.40
1d.	100/bx 10bx/cs	420	Innovative Healthcare #189100	\$51.47	\$21,617.40
1e.	90/bx 10bx/cs	420	Innovative Healthcare #189100	\$51.47	\$21,617.40
(All costs n		uded or		\$108,087.00	
	ction 2 Optio				
	MedFIRST Healthcare Supply, Inc.				
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost
2a.	100/bx 10bx/cs	420	Innovative Healthcare #189100	\$80.90	\$33,978.00

2b.	100/bx 10bx/cs	420	Innovative Healthcare #189200	\$80.90	\$33,978.00
2c.	100/bx 10bx/cs	420	Innovative Healthcare #189300	\$80.90	\$33,978.00
2d.	100/bx 10bx/cs	420	Innovative Healthcare #189350	\$80.90	\$33,978.00
2e.	90/bx 10bx/cs	420	Innovative Healthcare #189400	\$80.90	\$33,978.00
(All costs	must be incl	uded or		\$169,890.00	

Pricing: Section 3 Option 3

			MedFIRST Healthcare Supply, Inc.					
ITEM	UOM	Est. Annual QTY	Manufacturer & SKU	Unit Cost/CS	Extended Cost			
3a.	100/bx 10bx/cs	420	MedGluv #MG5071	\$65.45	\$27,489.00			
3b.	100/bx 10bx/cs	420	MedGluv #MG5071	\$65.45	\$27,489.00			
3c.	100/bx 10bx/cs	420	MedGluv #MG5071	\$65.45	\$27,489.00			
3d.	100/bx 10bx/cs	420	MedGluv #MG5071	\$65.45				
3e.	90/bx 10bx/cs	420	MedGluv #MG5071	\$65.45	\$27,489.00			
(All costs r	nust be incl			\$137,445.00				
		Delivery:	1-5 Days					
Α	nnual Price	Adjustment:	: 2.5% Fixed					
		Notes:	N/A					

THE CITY DOES NOT GUARANTEE ANY SPECIFIC QUANTITY OR NUMBER OF PURCHASES, IF ANY, THAT WILL BE MADE DURING